[leph. npumen.

Ymb.

VREG
R1
10 kOm
VREG
ATmegal68
ol A i— PBO/ICP1/CLKO/PCINTO PDO/RXD/PCINTI6 —;‘1)
sl PBIOCIACINTI PDUTXDPCINTIT (=) |
= PB2/0C1B/SS/PCINT2 PD2/INTO/PCINTI8 =
D 12 PB3/MOSI/OC2A/PCINT3 PD3/0C2B/INT1/PCINTI19 ; e
ISI‘é 1 2~ PB4/MISO/PCINT4 PDTOXCK/PCINT20 = SRS
1< T PBsisck/PCINTS PDS/TI/OCOB/PCINT21 (= ,
2| PBOTOSCUXTALI/PCINTS PDG/AINOOCOA/PCINT22 = | VREG
2 PB7/TOSC2/XTAL2/PCINT7 PD7AIN1/PCINT23 L
= CX,R.?EN";‘? PCO/ADCO/PCINTS ARer [0 .
o SO SIIT\I/ONZS PC1/ADC1/PCINT9 avee |18
= : PC2/ADC2/PCINTI0 4 10mH
TEMPV__ 26 vee
-] oAl 5 PC3/ADCI/PCINTII o |CE o
> PC4/ADC4/SDA/PCINTI2
5C¢ ;2 PC5/ADCS/SCL/PCINTI3 ,
"] PCORESET/PCINTI4 GND |2 0.1 kD
121 Apcs GND
BEMFV_ 22 | '\ o0 onp |21
VREG =
c4 —
20 n® C7 C6 10 Mx®
0.1 Mmx® 0.1 Mx®
o
o
g
=)
=) VBATT X1
= o Interface
=]
2 e 1 [VBATT
—
2 | VBATT
arn RESET
. o RESET 3 TRESET
= TS
i INTn
LS oso i, 70T ———— 4 | INT(MISO)
3 = VBATT
e —pr — s |onD
o, sy ox
e /1
l= e (e 6 [SCK(SCL)
X —1 7 |GND
=
POSITION SDA
= 8 [SDAMOSI)
= | —— 9 | GND
S} C8
= 0.1 MK 10] GND
= L
b 1 imo L
(32} - =
lam)
o
E
=]
o
=)
c , /lum._ | Macca [Macwmad
o 0
=1 VsvFlucm] N° dokym. one-fiama [:GAB SERVU
Paapad. || 0030ed AL . ) —
= [pob. i e
=)
S| |T koHmp. /lucm [/lucmob 2
(=]
=
o HKOHMp
T
=

7 Konupoban

Popmam Ak




